M.onday

25.1.21
TBAT wse the expanded mwritten method Lor

multiplication

Starter .activi

Can any .of these calculations he
solved wsing .a .mentally?

600 x 3 = 123 x 9 =

/134 x 7 / x 80 =




25.1.21
TBAT wse the expanded mwritten method Lor

multiplication ~ EXAMPLE

|. We partition the
e et L2 |
w00\ , X S
| x 5 = 5
L) 2 | x 5= 70 i 15 = | 0 O
Lk00x5=2 0 0 O
20 2 | 05
2. Then multiply /
each value by
the |-digit .numher inally we
Wimwl, the ones ; ih_e ans;\/\/_e,;::dd
29.1.21
TBAT wse the expanded mwritten method Lor
Wiclielion:
Have .o go at this .one.
| 51 6
1516 x 3 = X 3
500
6
['5/16
1000 [0




25.1.21
TBAT wse the expanded mwritten method Lor

multiplication
3878 x b = 3878
X A

3878

Steps to success:

-Line up the numbers in place value columns

-multiply the ones first, then the tens and so on

-use your times tables and multiple facts knowledge to help you
-write the answers in the correct place value columns

-add the answers up using column addition

25.1.21
TBAT wse the expanded mwritten method Lor

multiplication

Silver Guold

L. 1723 x L 7. 3942 x 6
5. 4552 x 3 8. 2959 x 8
6 3467 x 5 EEELI R

Success criteria

-Line up the numbers in place value columns

-multiply the largest value first, then the next largest and so on
-use your times tables and multiple facts knowledge to help you
-write the answers in the correct place value columns

-add the answers up using column addition




Tuesday

25.1.21
TBAT multiply 4-digit numhers using
short column method

Starter activity: Can you spot my mistake?
356 2 52

—_—

X

NN
elele

W OON
NOO 00




25.1.21
IBAT wse the short written method [Lor
tiplication
Today we will learn the short method for multiplication.
34 x 4 =
Sktep |: S,t@p, 2 SJ'.Q,p 3
. Multiply the ones. Keep going until
LMEMPAW If the .answer is «a W“Wﬂm
. 2-digit answer, mutliplied
in columns. md%iwmpﬁ digit by the
the next column. hottom number!
3 4 3 4 3 k4
X b X b X -
p | 36
, I
25.1.21

IBAT wse the short written method [Lor
inlication
4524 X L4 =

L 5 2 4
X Iy




Steps to success:

© Place values aligned
' es digit and work le

o
© Write the number you are carryinﬁ first
o Always add what you havé carrie

o For the last digit, you do not have to carry.

2521
TBAT wse the short written method Lor

multiplication

SILVER GOLD

I.179 x &4 I.6558 x 8
2. 345 x & 2.2378 x 7
3. 299 x 3 3. 8647 x 8
L. 879 x 3 4. 2901 x 7
5.888 x 4 5.12,402 x 5




Wednesday

26.1.21
IBAT wse the short written method [Lor

multiplication

5 2 4




26.1.21

TBAT wse the short written method for
inlication

Thursdaoy




27.1.21
IBAT solve problems using multiplication

Megan worked out the answer to
1432 X 4

Here is her answer:
TH H T (0]
1 4 3

4 16 12 8

1432 x 4 = 416128

Can you explain what Megan has done
wrong?

27.1.21
IBAT solve problems using multiplication

Can you work out the missing numbers
using the clues?

* The 4 digits being multiplied by 5 are
consecutive numbers.

* The first 2 digits of the product are
the same.

* The fourth and fifth digits of the
answer add to make the third.




Fridoy

28.1.21

TBAT recall times tahles

Fluency Fridauy!

Practise syour times tables .and try
to heat your speed table time from
last week!




